11.2 Cosine and Tangent

Today we are going to utilize cosine and tan
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1) Use the triangle to the right to complete each equation.
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2) Find the missing side for each right trlangle below.
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3) Find the missing angle for each triangle.
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Solving a triangle means that we need to mind the measure of every h\db and _@SB\L . We can use
three main tools to do this: trig, Pythagorean Theorem, and the fact that all angles in a trfangle add to 180°.

4) Solve each triangle.

a.  Solve the triangle below. b. Solve for all parts and pieces of the triangle
below,
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